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Choice Based Credit System IV Semester B.A. (HRD)   
Examination, September 2022 

(2020 – 21 Batch Onwards)  
financial management 

Time : 3 Hours	 Max. Marks : 120    

          	 Instructions :	A single answer booklet containing 40 pages will be  

issued. No Additional sheets will be issued.

                             ÓÜãaÜ®æWÜÙÜá	 :	 40 ±ÜâoWÜÙÜ Jí¨Üá EñÜ¤ÃÜ ±Ü£ÅPæ¿á®Üá° ¯àvÜÇÝWÜáÊÜâ¨Üá.  

Öæbc®Ü ÖÝÙæWÜÙÜ®Üá°  ¯àvÜÇÝWÜáÊÜâ©ÆÉ.

SECTION – A (20 Marks) 

Ë»ÝWÜ – G (20 AíPÜWÜÙÜá)

Answer the following :  	 (3�20=60)

PæÙÜX®Ü ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔÄ :  

1.	 What is Financial Management ?  Explain the scope of Financial Management. 

	 ÖÜ|PÝÓÜá ¯ÊÜìÖÜOæ Gí¨ÜÃæà®Üá ? ÖÜ|PÝÓÜá ¯ÊÜìÖÜOæ¿á ÊÝÂ²¤¿á®Üá°  ËÊÜÄÔÄ. 

OR/A¥ÜÊÝ

	 Explain the long term sources of finance for a firm. 

	 E¨ÜÂÊÜá ZoPÜPæR  ©àZì AÊÜ—¿á ÖÜ|PÝÔ®Ü ÊÜáãÆWÜÙÜ®Üá°  ËÊÜÄÔÄ. 

2.	 Explain the factors affecting working capital requirement of a firm.  

	 E¨ÜÂÊÜá¨Ü ¨æç®Üí©®Ü ŸívÜÊÝÙÜÊÜ®Üá°  ¯«ÜìÄÓÜáÊÜ AíÍÜWÜÙÜ®Üá°  ËÊÜÄÔÄ. 

OR/A¥ÜÊÝ

P.T.O.

Reg. No.



	 Proforma Cost Sheet of a company provides the following details :
	 PÜí±æ¯¿á ÊæaÜc  ±ÜñÜÅÊÜâ D PæÙÜX®Ü ËÐÜ¿áWÜÙÜ®Üá°  ¯àvÜáñÜ¤¨æ :  
	 Elements of cost 	 Cost/Unit (₹)
	 ÊæaÜc  JÙÜWæãíwÃÜáÊÜ AíÍÜWÜÙÜá 	 ±ÜÅ£ ¿áã¯p…®Ü ÊæaÜc  (₹)  

	 Raw material 	 120
	 PÜaÝc ÊÜÓÜá¤ 

	 Direct labour 	 80
	 ®æàÃÜ PÜãÈ 

	 Overhead 	 50 
	 ÊæáàÇæÌaÜc 

	 Total cost per unit 	 250 
	 ±ÜÅ£ ¿áá¯p…®Ü Joár ÊæãñÜ¤ 

	 Profit 		 50  	
	 ÇÝ»Ü 

	 Selling price 	 300 
	 ÊÜÞÃÝo ¸æÇæ 

	 The following particulars are available : 
	 D PæÙÜX®Ü ËÐÜ¿áWÜÙÜá Æ»ÜÂË¨æ : 

	 a)	 The budgeted production is 18000 units. 
	 	 EñÝ³¨Ü®æ ±ÜÅÓÝ¤±Ü 18000 ¿áã¯p…WÜÙÜá. 

	 b)	 Raw materials are expected to remain in stores for 2 months. 
		  Wæãà¨ÝËá®ÜÈÉ  PÜaÝcÊÜÓÜá¤  CÃÜáÊÜ AÊÜ— 2 £íWÜÙÜá. 

	 c)	 Material in process ½ month. 
		  ±ÜÅWÜ£¿áÈÉÃÜáÊÜ ÓÜÃÜPÜá ½ £íWÜÙÜá. 

	 d)	 Finished goods in stock for 3 months. 
		  Ô¨ÜœWæãívÜ ÊÜÓÜá¤WÜÙÜ ÍæàSÃÜOæ 3 £íWÜÙÜá. 

	 e)	 Credit allowed by suppliers 2½ months. 
		  ÓÝÈWÜÃÜá ¯àw¨Ü ÓÝÆ¨Ü AÊÜ— 2½ £íWÜÙÜá. 

	 f)	 Credit allowed to customers 3 months. 
		  WÝÅÖÜPÜÄWæ ¯àw¨Ü ÓÝÆ¨Ü AÊÜ— 3 £íWÜÙÜá. 

	 g)	 Minimum desired cash balance ` 50,000.
		  CvÜ¸æàPÝ¨Ü PÜ¯ÐÜu ±ÜÅÊÜÞ|¨Ü ®ÜWÜ¨Üá ÊæãñÜ¤ ` 50,000. 

	 Prepare statement showing estimation of working capital requirement.  
	 ¨æç®Üí©®Ü ŸívÜÊÝÙÜÊÜ®Üá° Aí¨Ýgá ÊÜÞvÜáÊÜ Óæràp…Êæáío®Üá°  ñÜ¿ÞÄÔÄ. 
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3.	 What is capital structure ? Explain the factors determining the capital structure.  
	 ŸívÜÊÝÙÜ ÃÜaÜ®æ Gí¨ÜÃæà®Üá ? ŸívÜÊÝÙÜ ÃÜaÜ®æ¿á®Üá°  ¯«ÜìÄÓÜáÊÜ AíÍÜWÜÙÜ®Üá°  ËÊÜÄÔÄ.

OR/A¥ÜÊÝ

	 The following details are available relating to a project. 
	 ±æäÅàhæP…rWæ ÓÜíŸí«Ü±Üor  ËÊÜÃÜWÜÙÜá D PæÙÜX®Üí£Êæ : 

	 Cost of project 	 ` 6,00,000 
	 ±æäÅàhæP…r®Ü ÊæaÜc 	 ` 6,00,000

	 Life of the project 	 5 Years	
	 ±æäÅàhæP…r®Ü iàÊÝÊÜ— 	 5 ÊÜÐÜìWÜÙÜá 

	 Method of depreciation 	 Straight line method  	
	 w²ÅÔÁáàÍÜ®… ±Ü¨Üœ£ 	 Óæóàp…Çæç®… ±Ü¨Üœ£ 

	 Year 		 Cash inflows 	 P.V. of ₹ 1@ 12%   	
	 ÊÜÐÜì 		  ®ÜWÜ¨Üá JÙÜÖÜÄÊÜâ 	 12% ®Üíñæ ₹ 1Wæ P.V.
		  1		  130000	 0.893 
		  2		  200000	 0.797
		  3		  220000	 0.712 
		  4		  180000	 0.636
		  5		  120000	 0.567

	 Compute the following : 
	 D PæÙÜX®ÜÊÜâWÜÙÜ®Üá°  ¯«ÜìÄÔÄ : 

	 1)	 Payback period	
		  ±æà¸ÝÂP… AÊÜ— 

	 2)	 ARR 
		  GÊÜÃæàh… Ãæàp… B´… Äo®…ì 

	 3)	 NPV at 12% 
		  G®…²Ë 12%

	 4)	 Profitability index at 12%.
		  ÇÝ»Ü¨Ü CívæP…Õ 12%.



SECTION – B (6 Marks)

Ë»ÝWÜ – ¹ (6 AíPÜWÜÙÜá)

Answer any 6 questions :   	 (6�6=36)
¿ÞÊÜâ¨Ý¨ÜÃÜã BÃÜá ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ :

1.	 What are the objectives of holding inventory ? 
	 ÓÜÃÜPÜá ¨ÝÓÝ¤®ÜáWÜÙÜ®Üá°  Öæãí©ÃÜáÊÜ E¨æªàÍÜWÜÙÜ®Üá°  £ÚÔÄ. 

2.	 Explain capital budgeting process.  
	 ŸívÜÊÝÙÜ ÊÜááíWÜvÜ ±ÜñÜÅ¨Ü ±ÜÅQÅÁá¿á®Üá°  ËÊÜÄÔÄ. 

3.	 Write a note on wealth maximisation. 
	 ÊæÇ…¤  ÊÜÞÂQÕÊæáçhæàÍÜ®… ŸWæY  q±Ü³~ ŸÃæÀáÄ. 

4.	 What are the stages of operating cycle ?  
	 PÝ¿áìaÜPÜÅ¨Ü ÖÜíñÜWÜÙÜá ¿ÞÊÜâÊÜâ ? 

5.	 Write a note on preference shares. 
	 B¨ÜÂñæ¿á ÐæàÃÜáWÜÙÜ ŸWæY  q±Ü³~ ŸÃæÀáÄ. 

6.	 Calculate financial leverage, operating leverage and combined leverage from 
the following :  

	 ´æç®Ý¯Õ¿áÇ…, B±ÜÃæàqíW… ÖÝWÜã PÜí¸æç®…x  ÈÊÜÃæàg®Üá°  PÜívÜá×wÀáÄ : 

				    ₹

	 Sales 	 24,00,000
	 ÊÜÞÃÝo 	

	 Fixed cost 	 4,00,000
	 ¯«ÝìÄñÜ ÊæaÜc 

	 Interest 	 1,00,000
	 Ÿwx 

	 Variable cost 	 10,00,000
	 A¯ÎcñÜ ÊæaÜc  
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7.	 From the following calculate EOQ as per tabular method. 

	 D  PæÙÜX®Ü ËÐÜ¿áWÜÚí¨Ü EOQ PÜívÜá×wÀáÄ : 

	 Order size (in units) 	 12000 	 10000	 5000	 2500	 2000

	 ÓÜÃÜ© ±ÜÅÊÜÞ| (¿áá¯p…WÜÙÜÈÉ ) 

	 Annual consumption  	 12000 units 

	 ÊÝÑìPÜ ŸÙÜPæ 

	 Ordering cost 	 ` 50/order  

	 ÓÜÃÜ© ÊæaÜc 

	 Carrying cost  	 ` 2 per unit  

	 PÝÂÄíW… ÊæaÜc 

8.	 From the following calculate WACC. 

	 PæÙÜPÜívÜ PÜí±Ü¯¿á ŸívÜÊÝÙÜ ÃÜaÜ®æÀáí¨Ü WACC¿á®Üá° PÜívÜá×wÀáÄ.

	 Sources 	 Amount (₹) 	 After tax 

					     Cost of capital 

	 ÊÜáãÆWÜÙÜá 		  pÝÂP…Õ A®ÜíñÜÃÜ¨Ü 

					     ŸívÜÊÝÙÜ ÊæaÜc 

	 Equity shares 	 1,20,000	 18%

	 CQÌq ÐæàÃÜáWÜÙÜá 	

	 Preference shares 	 40,000	 15%

	 ²Å´ÜÃæ®…Õ  ÐæàÃÜáWÜÙÜá 

	 Retained earnings 	 20,000	 14%

	 EÚÔ¨Ü ÇÝ»Ü 	

	 Debentures 	 1,20,000	 12%	

	 ÓÝÆ±ÜñÜÅ 	
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SECTION – C (3 Marks)
Ë»ÝWÜ – Ô (3 AíPÜWÜÙÜá) 

Answer any 4 questions. 	 (4�3=12)
¿ÞÊÜâ¨Ý¨ÜÃÜã 4 ±ÜÅÍæ°Wæ EñÜ¤ÄÔ.

1.	 What are the cost of extending credit ?  
	 E¨ÜªÄ ËÓÜ¤ÃÜOæWæ ÓÜíŸí«Ü±Üor  ÊæaÜcWÜÙÜá ¿ÞÊÜâÊÜâ ? 

2.	 Explain the motives behind holding cash. 
	 ®ÜWÜ¨Ü®Üá°  Öæãí©ÃÜáÊÜ E¨æªàÍÜWÜÙÜ®Üá°  ËÊÜÄÔÄ. 

3.	 What are the advantages of bank credit ? 
	 ¸ÝÂíQ®Ü ÓÝÆ¨Ü A®ÜáPÜãÆñæWÜÙÜ®Üá°  £ÚÔÄ. 

4.	 Write any 3 sources of short term finance of a firm. 
	 E¨ÜÂÊÜá¨Ü PÜwÊæá AÊÜ—¿á ÖÜ|PÝÔ®Ü ÊÜáãÃÜá ÊÜáãÆWÜÙÜ®Üá° ŸÃæÀáÄ. 

5.	 Write a note on retained earnings.
	 Äpæç®…x  A¯ìíW… ŸWæY  bPÜR  q±Ü³~ ŸÃæÀáÄ. 

6.	 A company issues ` 25,00,000, 18% debentures at par. The tax rate is 40%. 
Compute after tax cost of debt. 

	 PÜí±æ¯¿áá  ` 25,00,000 ÊæãñÜ¤¨Ü 18% Ÿwx¨ÜÃÜ¨Ü  ÓÝÆ±ÜñÜÅÊÜ®Üá°  ÊÜÞÃÝo ÊÜÞw¨æ. ñæÄWæ ¨ÜÃÜ 

40%. ñæÄWæ B®ÜíñÜÃÜ¨Ü ÓÝÆ±ÜñÜÅ¨Ü ÊæaÜcÊÜ®Üá°  PÜívÜá×wÀáÄ. 

SECTION – D (1 Mark)
Ë»ÝWÜ – w (1 AíPÜ ÊÜÞñÜÅ ) 

Answer all the questions. 	 (12�1=12)
GÇÝÉ  ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔÄ.

1.	 What is re-order level ? 
	 Äà BvÜìÃ… ÇæÊÜÇ… Gí¨ÜÃæà®Üá ? 

2.	 Give the formula to calculate EOQ. 
	 EOQ PÜívÜá×w¿ááÊÜ ÓÜãñÜÅÊÜ®Üá°  £ÚÔ. 

HRDHRC 281	 -6-	 *HRDHRC281*



3.	 What is time value of money ? 	   
	 ÖÜ|¨Ü ÓÜÊÜá¿á ÊÜåèÆÂ Gí¨ÜÃæà®Üá ? 

4.	 What is venture capital ?  
	 ÊæíaÜÃ… ŸívÜÊÝÙÜ Gí¨ÜÃæà®Üá ? 

5.	 What are mutually exclusive projects ? 
	 ÊÜáãÂaÜáÊÜÈà GP…ÕPÜãÉÔÊ… ±æäÅàhæP…r  Gí¨ÜÃæà®Üá ? 

6.	 Expand ARR.
	 ARR ®Ü ËÓÜõñÜ ÃÜã±ÜÊÜ®Üá° ŸÃæÀáÄ. 

7.	 What is dividend ?  
	 ÇÝ»ÝíÍÜ Gí¨ÜÃæà®Üá ? 

8.	 What is lead time ? 	   
	 Èàv… ÓÜÊÜá¿á Gí¨ÜÃæà®Üá ? 

9.	 What is permanent working capital ? 	   
	 ÍÝÍÜÌñÜ ¨æç®Üí©®Ü ŸívÜÊÝÙÜ Gí¨ÜÃæà®Üá ? 

10.	 What is annuity ? 	   
	 A®ÜãÂq Gí¨ÜÃæà®Üá ? 

11.	 What are secured debentures ? 
	 ÓæPÜãÂÃ…x  ÓÝÆ±ÜñÜÅ Gí¨ÜÃæà®Üá ? 

12.	What is profit maximisation ? 
	 ±æäÅµp… ÊæáQÕÊæáçÓæàÍÜ®… Gí¨ÜÃæà®Üá ? 

________________
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